TH2EE /\RERPPREFARR-—Y KRS

Page:1 of 1

2020££10A 248 (L)

RE—Ex
NRBEES L EEEEFEES
fiH 1fir 2 fir 3{r 44 5 {ir 6 fir 7 4L 8 fir
BF14E 100m |[HEZE U 13.5 |53 W OY ) 13.8 K £z 14.1 [fFH &K 14.7 |[t&H &R 15.0 |52 B 15.2 [ILF &E2A 16.9
R —rp & FRE R ) Nt SR IR IR SR
B T-24F 100m |NHE &K 12.0 |AH Fil 12.4 | K¥EAR HeF 12.7 [BH BK 13.0 |5A  #& 13.0 P& & 13.2 ¥4 13.5 [IUA 5= 13.6
J\ R ep it J\k IR = Firp Firp I
Br14E 1500m [&EK FF 4:48.3 |#21L FEASER 119.6 Ak HEA 122.6 | &K A :37.6
IR —H AL R G
P24 1500m |[#&EE #3} 4:34.6 |k B 139.9 [MEfE @ 143.2 | HiER 148.0 [MhH HKE 48,5 [aAF {HEA 4:54.3 | L@ fadk 4:56.4 |fRE %= 5:07. 4
MR R R IR NANL SR B AN
B deim 400m [EHH EEQ) 1:15.9
IR —H
BrdsE] 3000m  |[AfR BHIQ) 10:00.9
SR
BYdG@E] 100mH | PR &0 15.8 [BH  BEAHS(2) 19.0 [Jakr R (2) 19.4 | L# 3 (2) 20.0 |HFF JEURE (2) 20.
0.762m) |\ ft—r U it U Hir
ByibmE| 4xX100m |8 48.9 |\ 50.5 [ J\f&—r 51.3
PR i] A e Bk BIA L (2) 1m50
i
573w ARk W EIR(2) 5md8 [fE ST (1) 4m97 |79 BRER (2) 4m68 %55 #Z2Ir (1) 4m03
INMR—H 0.0 |J\t=rp 0.0 |J\k 0.0 |J)\t=rp 0.0
Brdkim AL R A (2) 5m60
(4.000kg)  |&EH
7T 14 100m |filH B 13.6 | Ki& Bk 13.6 (R ii#E 14.0 |95 )Y 14.1 [{BA  HE% 4.1 A B4 14.3 | &M B 14.3 JkH  #E 14.9
SN IR IR IR INR—H AN I\ B
24 100m | FPAEREEY V=T 13.6 |[Ex A EfE 14.2 | % 96 14.3 |BH e 14.4 (fl BHE 14.6 |10 3ELK 15.0 | Rl f 15. 1 |ARH Ay 15.6
= J\fkpy e e LS )\ AR e J\ME = MR BT\ MR
LS4 800m [k LAY 2:34.9 [T HEHE 35,2 [AAK fE3E 138.9 MRk KR 140.8 |0 2 143.9 BP0 BRAE 2:47.2 | EF Ty 3:02.0 [HN /2 3:04.7
I\ JUR—f Firp B3 AR J\kpeh J\ R eh G ik
L f-24E 800m |EH {HFET 2:37.6 |fidE O 44,9 |l Fipg 148, 7 | A 50,3 [HE Bk 54,6 (ol AR 2:55. 1
SN N AR N ANNLE IR
s3] 200m (B0 EHEER) 29.0 | EME(2) 30.4 |l AL (2) 30.9 |2 EHR(2) 319 [AH (1) 33.3 | K& FifE) 34.8
IR i AN AR I\ PANANLE
LrJEm| 1500m |[BA FRQ) 5:06.5 |IX% 1 (2) 109.8 [BA () 22,0 [INFE WEEREEE (2) 294 [ WS T (2) 35,7 [ ER(2) 5:43.7 1T A 5:52.6 |78 BHH (2) 5:55. 3
R AN SR N AN AN ANNLLS ANNLLS
s3] 8 0mH |kl FEA(2) 15.7 R EAQ) 16.4
0.762m) |/t I
f3E] 4X100m JUR—HA 54. 1 | B[R 55.0 [\ k= 55.6 |\ Ry 56.3 |Hit 56.9 |/\ft—H B 58.3
S| Ak ) RZE (1) 1m20
N
et A MEBk A EA(©2) 4m51 [/ Bk (2) 3m56 [HiJIl FEHE(2) 3m17
AN 0.0 |)\&—rp 0.0 |k 0.0
LS| Fu L% e 21 (2) m08 [fE Il fE4%(2) 6m44 |k TE (D) 6m13 |FH  FER(2) 4m88
(2.721kg) T Ik JUR—ip R




